How does the rate of change of the AREA depend on the rate of change of the SIDE LENGTH?
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fVVhat is the rate of change of the area of a squar(; when the side length is 5 and the

lengths are growing at 3 in/sec?.
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What is the rate of change of the VOLUME OF A CUBE when its side Iengthﬁs 5 and the lengths are growing
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What is the rate of change of the VOLUME OF A CUBE when its side length is 10 and the lengths are
growing at 1 in/s?
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Suppose a spherical balloon is being inflated at a constant rate of 20 cubic inches per second At what rate
is its radius i mcreasmg when the diameter of the sphere is 12 inches? =
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Does the rate of change of the radius increase or decrease as the radius increases? What is
dr/dt when r = 247 £z 2
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